A TSAIRH S MBS

TSAIRSI = @il

{0
&t

RERESHHEEAHTRSE

A5 MERNSERS
AR 32, 40, 50, 63, 80, 100
WS F @
PEDRNELBRSH,
BEBNRKENRANNRGEN

& B% 28 B E JE A ik
KELIRMERERE G ERBEEET
THRERMSLTENUE, BNl :
I 25 | R E | ks
32
F-TSAI32E
40
50 CMSE
I F-TSAIS0E | j\ioc
80
F-TSAIB0E
100
SHAMREEE
SHEBRHAEK
B i (N)
SE| FE €z  ZE@AER ZSEA(MPa)
HE FE| AR (mm?) 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
32 o | B B0 804 80.4 | 160.8 | 2412 | 321.6 | 402.0 | 4824 | 5628 | 6432 | 7236
nf) | I 690 69.0 | 138.0 | 207.0 | 276.0 | 345.0 | 4140 | 4830 | 552.0 | 621.0
20 16 = B | 1256 1266 | 2612 | 376.8 | 5024 | 6280 | 7563.6 | 879.2 | 1002.4 | 1130.4
&) | HIMJ | 1055 1066 | 211.0 | 3165 | 4220 | 5275 | 633.0 | 7385 | 8440 | 9495
50 20 = | 1963 196.3 | 3926 | 5889 | 7852 | 9815 | 1177.8 | 1374.1 | 1570.4 | 1766.7
o) | A | 1649 164.9 | 329.8 | 494.7 | 6596 | 8245 | 989.4 | 11543 | 1399.2 | 1484.1
63 | 20 |E || 3117 311.7 | 6234 | 935.1 | 1246.8 | 1656856 | 1870.2 | 2181.9 | 24936 | 2805.3
o) | HIfl) | 2803 280.3 | 560.6 | 840.9 | 1121.2 | 14015 | 1681.8 | 1962.1 | 2242.4 | 2522.7
80 25 = B 5026 502.6 | 1005.2 | 1507.8 | 2010.4 | 2513.0 | 3015.6 | 3518.2 | 4020.8 | 4523.4
) | Il | 4536 453.6 | 907.2 | 1360.8 | 1814.4 | 2268.0 | 2721.6 | 3175.2 | 3628.8 | 4082.4
10| 25 |E 8| 7853 785.3 | 1670.6 | 2355.9 | 3141.2 | 39265 | 4711.8 | 4288.2 | 6282.4 | 7067.7
) || 7362 736.2 | 1472.4 | 2208.6 | 2948.6 | 3681.0 | 4417.2 | 5153.4 | 5889.6 | 6625.8
BRARAHEXRBL
;_
gu sl ol [ —L 1}
AN 00| |0 1 IJ
S
TSAIMZART (HREMSO) TSAILRT (BZM50)
450 180
400 160
350 140
~ 300 ~ 120
=z =z
Z 250 ~ 100
L —— [N -
# 200 & 80
H 150 E 60
o =
H 100 H 40
K 50 K 20
LI | LN
0 100 200 300 400 500
S (mm)




kG E il AIl'TAL

TSAIZRFI

N

1 &(mm) 32 40 | 50 | 63 | 80 100
THERR Snpi

TYENER S (E40 p mELETRIND TR

BREIEE 0.15~1.0MPa(22~145psi)(1.5~10.0bar)

RIUEM 7] 1.5MPa(215psi)(15bar)

T/ERE C —-20~70

FERREEE mm/s 30~500

TENETE 0~250*50 >250*)5

Eogutlicay [EpEEEy

BEOR [ PT1/8 | PT1/4 \ PT3/8 PT1/2

DENEEFREPTH. GF Tk,

=it T8
1. BEORSIRRSORSSIBESHHESE; M &(mm) HHETRE(mm) RATE(mm)
2. Bo)inE: SERSIFHSMEaAENEZE, B8 32 50100 150 200 250 300 350 400 450 500 500
BEARHENE ; 40 50 100 150 200 250 300 350 400 450 500 500
S&IR: BRRIRERE, SERSEENSRR 50 50 100 150 200 250 300 350 400 450 500 500
- ﬁg\ Em‘%@ ﬁi%iii%ﬁig?fi@%i@@%@ 63 50 100 150 200 250 300 350 400 450 500 500
3. SARFANIBIOT, RRSDUNEEELN; 80 50 100 150 200 250 300 350 400 450 500 500
4 BEORTIEPETEE . 100 50 100 150 200 250 300 350 400 450 500 500
5. BERBETEE, TRLIREASREBERBLENS,

UL EERHRIRBES AR TR R

R 3T 55
TSAI M 40X100 S [J
TJEReT
él) @ @ @ 5(6 1. BIRIWSERN, REETTBITEIIRPIMETRE.
DRBERS TSAl, BEERAI (BT REEERITE)
MEAT M. R L BAER 2. WERTBIFRETENESARSE, BEHRUT
B E 32 40 50 63 80 100 FIRETREAIL+ E—RETENSELS,
@FE EMT20IR 2Bl SAI32X160(FEIMETIZSED
PHARS | =0 AWHE S WEa (1) +F-TSAIM32X200(iR (T2 SRR IMEUT :
—— OFBREB =8, PTH  G: GH TSAISAZ

(F1]) B SEDIRCE2PCSERSBREME,

i e

B4 3T T 0 (. 2k 5 1) 22) :
——K-11
F-TSAIM 40X 100 —] |

S 60 o

OHHFR TG F. btk g
QMERS TSAl. HE[ESIT AZ:EE;QSTESO
©L 3] M. FEMR L. BSmK

@EE 32 40 50 63 80 100

BT FILTIRIIR

(E) 2MIBSOR, YEcH2PCSERissERE,
Rt EBREE ST G R AR T &,

ERBEIEERS\EIZ |32|40 |50 63|80 (100
F-TSAI32E e o

F-TSAIS0E o o
F-TSAIS0E LI

Py



kG E il AIl'TALC

TSAIZRFI

NEBLEHREETHMR
TSAI FSs E4 R Fs 2% &
7) (8 70 E) 12 (3
@ @ Q O@? O O O 1 BEER R 8 SAISHEL A
— A5 1 (. I al 2 | ANERE fige 9 SHx )
f}zf fffff B — 3 | wamE Y o | SHHES SN
= g NEEE B SHED) TR
@r= 5 | CHUDR BEN 11 EIAN B
@A ;HE o) m— © EEHA - 12 | EEBEEE | B
+ | S — 6 — _ = —
H : ——1 O HEBR 4 13 | ANALEERY | 58N
O i R e = 7 | rmge BN
@%I —
.= - - =
ShEBHL B
TSAIM/TSAIL
RC RD
4-SRSA
Mt W
I I
O] H é @ g m
4-L
=)
LA
(AB) AE AF+1772 CA
ACHTIE c
A+(T1E
RE
DD O |
I e e e e e — ZIZ\S| A |AB|AC|AD|AE[AF| B |[BA[ C [CA
2 — ; 32 | 164 18 144/ 12 125 1 |117/109] 50 | 45
. i DD % 40 |183.5 16 [157| 12 |[140| 1 |123/115| 68 | 54
N ' 50 |198.5/ 18 |169] 15 [160] 1 |145[135] 70 | 63
o JA leF;AR 63 | 214 18201 15 182 1 |160/150| 85 | 80
4 RC RD ’ 80 | 243 |24 |240| 20 |215| 1 [198/189/105/100
100 | 258 | 24 |245| 20 |220] 1 221/210[130/120
HEWS D | G| H | J JAJJB]K L LAl ™M [MA[MB/MC| N | P R RA | RB | RC | RD | RE s SA | SB

32 |20(16)| 85 | 15 |10.56/ 6.5 | 78 | 6.5 | M6X1.0 |32.5| 14 | 45| 48 | 565 | 8.5 |PT1/8| M6X1.0 | 12 |34.5/62.7|32.5/40.2| M6X1.0 | 12 | 61
40 |20(16)] 91 | 16 [10.5/6.5| 84 | 6.5 | M6X1.0 | 38 | 14 | 6 | 54 | 61 | 8.5 |PT1/4| M6X1.0 | 14 | 38 | 64 | 38 | 51 | M6X1.0 | 14 | 69

50 20 |108| 19 | 14 | 8.5 |100| 85 |[M8X1.26/46.5| 17 | 7 | 66 | 72 |10.5|PT1/4|/M8X1.25| 16 |46.5/70.2/46.5|64.7|M8X1.25| 16 | 85
63 20 |[123] 19 | 14 | 8.6 |105| 8.5 |[M8X1.25|/66.5| 17 | 10 | 79 | 72 |10.5 PT3/8|M8X1.25| 16 |56.5/73.7/66.5/76.5|M8X1.25| 16 | 100
80 30(25)| 160 | 27 | 17 [10.5/ 130 |10.5|M10X1.6| 72 | — - - - - |PT3/8{M10X1.5| 20 | 72 | 90 | 72 | 90 |[M10X1.5| 20 | 130
100 |30(25)/ 172 27 | 17 |10.5/ 150 |[10.5/M10X1.6| 89 | — - - - - |PT1/2{M10X1.5| 20 | 89 |91.5/ 89 | 113 |M10X1.5| 20 | 150

D] )" POVEBEIEATSAILRIIR T o

L




	页 1
	页 2
	页 3

